O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

7HIHVEIP pQ\HV] i PRIiV

ZHIHVEIPPO\
Y%RVN SILID
%RVIN ODUNHWLQJ %l +yQDS eDlill &VRSRUI eW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
-yJVHI $ X %$(
+8 6=e&6el< 6(
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
18(
YplpY 1$( @WIHVHQ
RV JiU DNI pUt
—XIDIpNHV] § PRIV
6101
+v0ODS
+8) (85
I
GIHPPNHV pUpNHIpY 15 6Dl IXIDIpN
13 6D 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
C 6DIil (WD ~XIDIpN
% &VRSRU BBEBBBBBRBRBERB BBBBBBBBBE BEBBBBEBEBR
_ULJHIpV
BIiIXV]
+DYLIHIHVIIPpQ\
YRIJDRP , +8)
$IiQIV] .[IG|S  6]HIJEGE (J\VpJ  7ISXV  7DWD  7DUDP TV NiV —XIDIpN
02/ .29 %7 25 xm: * *5%: (
1<(0(&= 0,+E/<1e 3 *$: )* *5% = (
.2//E5 E*~1(6 OE57$ 3 *$: )* *5% 1 (
OHIHEHVL 9L J SH[DQGD 3 r$: ox *5% = (
%E1))<le 7g5g. ,5el 3 *$: )* *5% 1 (
.1&=,E1=2/7E1 3 *$- )* *5% = (
YRIJDRP ,, +8)
$IHQIV]  .[IGIS  6]HIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
%DIN.Qp 7yIRN -
ES3E" 1e 9,18=( 0$5,(77$ 3 xmo- *5% = (
&VHINy =\ JUI\L
6$//%, -(12 3 *": s *5% = (
9%/, 0$*<$5, -T=6() 3 *$z )% *5$ 1 (
_$6=$1<&., 7.%25 3 *$: % *5% = (
&=E.<3e7(5 3 *$:- )% *5$5:-(
%8"$, -8",7 3 *$: % *5% = (
-RYiFVQp " yVD ODUDQQD $C $U% $(*21
YiELiQ ODUDQQD
0,38&. .l 3 5%z = *5g = (
0,38&. .l 3 5§z = *5% = (
0,38&. .l 3 5%z = *55 = (
-0$=6T).$ 3 *$: )x *5% 1

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

%RViIN $liLD



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li
$QV] . IGIS  6]HUIEGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
=,0%$=61).$ .25 *To o* *5% - (
*HGRF]LQp %HUJH
/(z,61715% 3 xwooox *5%:-(
/(=,61715% 3 *$z o* *5% = (
/(=,61715% .25 *$:- * *5% - (
.$3E6 7h1"( $C  *$:- 0+ *5% = (
9iJY|II\L ,UpQ
%%$.6% 3e7(5 3 *$: )* *5% = (
%$.6% 3e7(51e 3 *$- * *5%:- (
%%$.6% 3e7(5 3 *w o ox *5% = (
=RUNyF]LQp +XV]
6E>, =2/7E1 5T%(57 3 *T o g *5% = (
6E>, =2/7E1 5T%(57 3 Ty *5% = (
gVV]HVEIHI pUipN
JRUIDRP , (85
$HQV] - NG|S  6]HUIEGE (J\VpJ  7ISXV  7DUID  7DUIDP  %LJWHiLV ~XIDOpN
DRUIDIRP ,, (85
$QV] . |IGIS  6]HIEGE (J\VpJ  7ISXV  7DWID  7DUDP %IV HiLV ~XIDIpN
~HQHVHV *\]QJ\L
-(1(6(6 *<gl*<, 672 *$: ( *5% - (
-(1(6(6 *<gl*<, 672 *$:= ( *5% - (
-(1(6(6 *<gl*<, 672 *$: ( *5% - (
-(1(6(6 *<gl™<, 3 *T o (* *5% = (
=RUNyF]LQp +XV]
.,BE/<le %2*1E50(/,1"$ O 3 *$: (" *5% - (

$] HIV] i PROi VWD) NDSFVRIDIRV UHNIDP i FLyNDI NpUi N tUiVEDQ D] HIV] i PRIV NpTKH]YpiHIpi] 0 V1 PiRM

QVVIHVEIHIN pUIpN

KpiHQ EH) 0 D] O,& WRGIEDQ (HDGQL

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

%RViIN $liLD



